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\q,‘“\ Paper / Subject Code: 86001 / Operation Research
& .
'\""‘1 I"}/”

Time: 2 ¥: Hours Marks: 75
l Note : L. All questions are compulsory. ( Subject to internal Choice )
2. Figures to the right indicate full marks.
3. Use non--programmable calculator is allowed
4. The normal distribution table is printed on the last page for reference.
5. Support your answers with diagrams/illustrations, wherever necessary,
: 6. Graph papers will be supplied on request.
[ QI (A) Multiple choice questions (Attempt Any 8) (8)
1. ABFS of a LPP is said to be - -——= if at lcast pne of the basic variables is zero
a) Degenerated  b) Non-degenerated ¢) Infeasible  d) Feasible
2. For solving an assignment problem, which method is used?
a) Hungarian b) American  ¢)German  d) Ialian
3. A feasible solution is-called a basic feasible solution if the number of non-negative
allocations is equal to -
4) men+] b) m#n-1 ¢) m-n-1 d) m+nt1
4. Which method.is an iterative procedure for solving LPP in a finite number of steps
a) Simplex algorithm b Simplex method ¢) slack method  d) M-method
5. An objective function is maximized when it is a - function.
a) Profit  b) passive c)cost d) time
- 6. In anassignmentproblem involving 5 workers & 5 jobs, the total number of assignments

possible is ———.
a) 15 b0 )5 d&)20 : .
v/ is known as the time by which activity completion time can be delayed without

affecting the start of succeeding activities, —
a) Total float —b) interfering float ¢) independent float  d) Free float
8. The probability of 2 normal curve is .
a) 60%. b)70% ¢)50% d)55%
9. What is the probability of project completing in 55 days if the expected project completion
time is 47 days & table value is :(+0.4890)
a) 9890% b)99% c) 90% d)98%
10. What is the total idle time if jobs are processed on 2 machines and idle time on machine A
is 11 and on machine B is 15.
a)25  bB)26 )23 d)24

Q1 (B) True or false (Attemipt Any 7) : (N

1. Is concerned witlt using scientific approach i.e. logical reasoning to solve problems for the
management by ensuring optimum utilization of resources
I Any change in the constraint inequalities will have a proportional change in the objective
function ok
iii.  In graphical method,infeasibility happens we cannot find feasible region,
iv. Graphical method can be used when the mimber of decision variable at two
V.  Anartificial variable is a fictitious variable in LPP problems.
vi.  Surplus variables represent an excess amount of resources utilize
vii.  When the number of linés is not equal to size of matrix the solution is optimum.
viii.  There are two types of techniques available o find the initial basic feasible solution,
1x. - The network can have one or more start node and end node.
X.  Pessimistic time is the shortest time period expected to complete the activity,
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Paper / Subject Code: 36001 / Operation Research

2
LA) A Company manufactures two products A and B. To manufacture one unit of A, 1.5 machine
hours and 2.5 labour hours are required. To manufiicture produet B, 2.5 machine hours and 1.5
Inbour hours are required. In a month, 300 machine hours and 240 labour hours are available.
Profit per unit, for A is Rs. 50 and for B is Rs. 40, (
Formulate as LPP A _ ()
Q.2 B) Solve following LPP by Simplex method . A (7
Maximize Z= 50 x, + 20 %2 : ¥ 5
Subject to Constraints ‘
- 20%,+10x: < 500
50x; + SDx=< 300
xi, X =0

 OR '
Q.2 C) Solve following LPP by Grnplmﬂ métlmc!. ] - (7)
Maximize 7= 2x; + 10xs
Subject to Constraints -
2xtixas 16
6x, <30
X1, % 20 7
Q.2D) A Sales manager has to assign salesmen to four territories. He has four candidates of varying
experience and capabilities, The manager assesses the possible profit for each salesman in each

territory as given b:mw
Salesman N Terrilm'r
X1 o |1 T3 T4
S1 3 v |? 28 37
S2 28 A 34 29 40
53 35 |24 =] 32 33
54 24 132 : 25 28 .
Find the nss:gnms:m of snlmmm to the ferritories so that fotal profit is Maximum. ' (8)
Q.3 A) From the Following dﬂnlls of the prn]ﬂ:t : ;
i Draw the network diagram and identify critical path 3)
ii.  Find out Earliest Start and Finish Time, Latest Start and Finish Time of Each activity
_ (5)
[ Activity [ Node Duration
1 \ (Days )
= : =5 4
B 3 (13 =16
C = 11 E]
D T { 23 S
B g < o 20
F o S 10
G 9 | 36 6
I'H Ts6 = |16
52690 - = . Page20f 6



Paper / Subject Code: 86001 / Operation Research

B) A company is transporting its units from three factories Fy, Fz , F3 with the production
capacities od 11,13 and 19 units (in thousands), It has four warchouses W, Wz, Wi and
Wi. With demands of 6, 10, 12 and 15 units (in thousands )

units cost of transportation is given from each factory to each warechouse,

Processing Time (Min)
Jobs Machine A “Machine B
il 90 70
. 7 40 80
i1 G 40 50
V-~ = 30 10
b Y 25 35

4 A) There are Six jobs (name

Wi W1 W3 W4
Fi 42 12 50 26
F2 3 36 28 46
F3 64 54 36 [
Construct a Transportation table :ml Find Initial feasible solution by Least Cost Method (LCM)
(N
. OR
Q.3 C) From the data given lmlnw K 'y
i, Drawadiagram ; (2)
ii.  Find Critical path (2)
iii.  Crash systematically the activities and determine optimal project duration (4)
Activity Normal Crash Cost Maximum
Duration (Days) | per day( Rs) | possible Crash
' Time
12 6 80 12
M3 A% 90 4
{14 =[5 -130 2
24 - F oot  oE - 0
2-5, I 40 42
36 12 200 4
4-6 18 ij.} 3
56 6 |- 0

Cost of completing eight mtnrft:n in nm'ma[ lime 1s Rs 6500 indirect cost, Rs 160 per day.

Q.3 D) Five jobs I.H,Iﬂ;hf' and V E_‘I"B"lﬂ be processed on two machine A and B in order AB

1) Find the sequence that nﬂuimlzes_thc total ﬁapsed time (2)
2) Calculate the total elapsed time (3)
3) ldle time on for m Machine (3)

34 ,5and 6 ), each of which must go through machinesA,

X .

| gﬂﬂdeﬂ]EﬂﬁEﬁ C‘Pmo&s%]'gﬂmnﬁn hours) arc given below:
e Jobs I | .2 3 g 5 1 6
‘Machine A 12 |- 8 7 11 10 5
[MachineB | 3 | 4 2 s | 2 | a
Machine C 7 10 9 6 11 4
2690 o~ Page3of 6



Paper / Subject Code: 86001 / Operation Research

the sequence that minimizes the total elapsed time required to complete the job (2)
‘alculate the total elapsed time (3)
e time on Machine A, Machine B and Mlchine C, 3)

B) you are given the Pay-off (Profit in Rs.) matrix in respect uf Two-Person-Zero — Sum
e s follows

Plaver B
I®Bi B2 B3 B4
Player Al =500 - [260 . 200 210
A A2 -50.. -100 -40 240
A3 200|400 60 |20
A4 250 _|300 | 100 50
(i) Find the Maximin Strategy, : (3)
(ii) Find the Minimax Strategy. ! (3)
(i) What is the value of the Game? o (1)

Q.4 C) A company is transpnrung its units from three factories Fy, Fa, Fs to four warchouses
Wi, Wz, Ws and Wy, The supply and d;:mund of units with transportation cost per unit (in Rs.)
are given below with feasible solution (The numbers which are in circle indicates numher of
unils transported from F&:tﬂry to warrhouat)

Plants ' = Warchouses - = Supply
] in Units

Wi W: Wi Wi

Fi I . | w | IL 7 4 40

F- E 1= S 6 TR
L --:'- - --@ @
= o
4

P 8 i 8 10 13
. AT
Demand in Units, | 25 35 16 24 100
(i) Testthe mluliqil__fnr npﬁni;iity (3)
(ii) If solution is not optimal find optimal solution, (5)

52690 Fage 4of 6



Paper / Subject Code: $6001 / Operation Resesrcs

Q.4 D) A small project consist of seven activities. Optimistic, most likely and pessimistic time
estimated in days are given below

[Activity [Preceding L) Most likely | Pessimistic
Activity ptimisti  Time
¢ Time

A - 2 5 8

B - 2 5 14

C A 4 6 14

D A 5 7 15

E B,C 2 3 10

F D 3. 3 3

G E 1 2 3

i) Construct the network diagram of PERT network and find expected completion time

of the project. _ (3)
iii) Determine the probability of completing the project in 21 days. (4)
Q.5 A) Define operation Research and What are the Characteristics of Operation rescarch
technigues? (8)
B) Explain Objective of Project Crashing of Network analysis )
—. < TOR _
Q.5 C) Write a Short noteson Any Three (15)
i)Degeneracy in transporiation ;

i) Dummy activity in network analysis
iii) Three time estimates in PERT

iv) Project crashing. '

v) Assumptionin LPP

Bt t DTl S h bt

52650 - Page 50f6

B —



Paper / Subject Code: 86002 / Elective : Finance: International Finance

“" Duration: 2.5 Hours o Marks: 75
—_
Note: .
1) All questions are compulsory subjeet to intemal choice.
2) Figures to the right indicate full marks,
3) Use of simple calculator is allowed

Q.1 :

(#)  Multiple Choice Questions (any 8): (08)
(1) is the branch of economics that studies the dynamics of exchange rates,
foreign investments, and how these affect international trade.

(a) Intemmational Finance : :

(b) International Marketing

(¢) Internationial Economics

(d) International Monetary System

(2)  The asset price at-which the investor can exercise an option is called price.
(a) Strike
(b) Spot
(¢) Future
(d) Forward

(3)  Currency that is used as a unit of account, medium of exchange and store of value not
only for transactions within the country, but also for international public and private
transactions, is called as- currency.

(a) Vehicutar -

(b) Home - 5

(¢) Vanable e -

(d) Foreign e

(4)  BBC Global 30, S&P Global 100, S&P Global 1200 are examples of
() International Equity Benchmarks
(b} Yankee Stock Offering
(c) Cross Listing 0f Shares
(d) ADRs

(3) is the risk of exchange rate that creates an inpact on the market value of a
company. ; ;
(a) Econpmie Risk
(b) Transaction Risk
(¢) Translation Risk
(d) Liquidity Risk

(6)  FOREX market facilitate the conversion of one currency into another i.e. payment
between exporters & importers. This function of FOREX Market can be referred as =
(#) Transfer of Purchasing Power _
(b) Credit Function o
(¢) Hedging Function
(d) Risk Management Function

52224 o Page 1 of 4



-

_: _ rociured way, the case for Fl'mdmg Wiﬁi

___ offers foreign individuals and businesses little or no tax liability in a
pollﬁnlﬂyud economically static environment.

(2) Tax Haven

(b) Offshore Banking Unit

(c) FOREX Market

(d) Tax Heuha}z

mvnlws thershrrultanmus buying and selling of an asset in order to profit
from smail differences in prten.

(a) Hedging

(b) Speculation

(¢c) Arbitrage

(d) Investing

a Ex{:hang_u Rate is a system where the currency price is set by the forces of
forex market i.e. demand and supply of currencics.
(a) I’Ie:ibte 3

Q.14B) Stn!HrWtie fnllmﬂng‘statm are True or False (any 7): (07)
1} wmnsfm are mwrded‘lmdﬂr Cnﬁital Account of BOP.

2) FE.l@m replaced by FERA. :

3) NPVisa non-discounted technigue of Capital Budgeting.

4) !f:hc Qnulns given as USD-H{Rﬁz 1550-75; This quote is called as “Direct
Quoie” i ;n 2 New York. __?'

5) Imin l!rn Tax Haven nam:-n. A

6) Thuemmrmtryandﬂxﬂmﬁ?l. -

7) To be cross-listed, a company must mmpljr with the requirements of all the stock
exchanges in which it is listed.

) Cbnpge:sm mm:kﬂ mﬂntmu cause ms in currency exchange rates,

9) Call uptmghbesth&nght to hu:.rngmntn fixed date and price.

[{l]_Undﬁ Bn:nnn Woods system, onims could use USD as a medium of exchange
for intermiational sﬂ!ﬂmnents ¥ '

52224 N Page2of4



Subject Code: hf!’hﬂiﬁ Finance: Infernational Finance

mous and Ammm%ﬂmﬁ?

3) What is the Mid Rate?
4) What is Spread?

5) What is % Spread?
6) Caleulate the inverse quote.

4

The following quotations are uvnilab[e-:in USA
1 USD = GBP 0.8350-0.8425
| USD=CAD L.1125-1.1175

And the quotation available in Canada is: 1 GBP = CAD 1.5550-1.5650 s
- From the guotes given in USA, derive the quaial'.lm for 1 GBP in terms of CﬂD

Cumpam the derived quotation with

arbitrage opporfunity exists. (As

otation available in Canada and identify if any

ithe significance of wmanct in today's context,
ance of Payments? How it different from BOT? What is meant by

The follow qngtmgwem_utm&.lﬁm = CAD 1.0110-85
1) In which country, the gquote is “Direct™?
2) In which country, the quote is “Indirect™?

ital GBI’ 2 Million)

What are Eurobonds? Explain dlﬁ'erenuypﬁ“nf Eurobonds.

What aré Currency Tutures? How are they different from Currency forwards?

Consider the following information:

Spot CAD/SEK
| Month Forward

2 Month Forward

IM Forward-
6hﬁﬁmm

CAD/SEK ﬁmns

Spot USﬂ'I'HR 83. I5‘25

3 MGHE‘Forwmﬂ USD.I" INR 33252‘5
Cull:uhtnli Mnnths AFM E.I'II‘I

What is FDFfWhat is FPI" How
Discuss goﬁa! mongy market i in

Given? X

Spat AUDHPYW 1575

AUD Interest Rate = 0.75% pa. &
JPY Interest Rate=1.50% pa. = =
Calculate three month forward AUDPY s

=

o

N,
R

Frogythe fuum.ig data, find tk : by

tamﬁmypmd of 3 Months. Exchs
Cun@'f ‘Spot Rates
I |usD |
EUR L
3. {GBP

~OR

" 7.8650 -

{-‘_

AN

-
Lal
o

i
e
Ty
"

&

1500 -
Caleulate | Month Forward, 2 MontisForward, 3Month Forward and 6 Month Forward

7.8700
50 - 70
290 - 340
920 - 1020

1600

- t from gach other?

(08)

(08)

(07)

(08)
(07)

(08)

07)

(08)

07)

(07)

ermative for investing INR 5 Million for a (08)

mies are against INR.

Interest rate

5% p.a.

3% pa.

4% p.a.




Paper / Subject Code: mjm : Finance; International Finance
s doing Business Intemationally? 08)

What are the Benefits towards Parties
hﬂhwuldgcml:mhﬂuwaﬁutauﬁ ©7)

Ms. Gurneer is planning to buy an

as follows: ] »

Year 0 BV [2° 3 4 _

CFAT in USD (1 o@m} 32,000 [60.000 [32,000
Ifd:smmnngmtcisll}%isnworm invest in-machines. T '

Year L 3 T30 13 4

Discount Factor 0.909 0.826 10,751 0.683

OR

Write Short Notes on (any three) : ~i{18)

1) Fixed Vs. Flutb!nhctmngﬂe System’

2) ADRS Vs. GDRs,

3) Foreign Exchange Dcalm‘“m:ixlinn nf India.
4) PPP Theory . \

5) Eurocredit L )

e % _-' s
B 5

-
—
-
-

Ll
-
-




| Marks:75]

_".-‘

se check whether you have got the right question paper.
1. Figares to the right indicate full marks.

2 Draw suitable diagrams wherever necessary

‘3. Hiustrate your answers with examples

4, Rewrite the questions for Q1.a and b.

flultiple Choice Questions (ANY EIGHT) (08)
is not a scope of branding.(Physical goods, Services, Retail, Savy customers)

| The tagline of Bournvita s (The Taste of India, Tean ki shakti Man ki shakti, Kuch meeta
* ho jaye, Daag Acche Hain)
- is quantitative ressarch technique. (Completion, Comparison, The Big Five, Brand

Response)

is discount pricing f:ulicy. (Value prici_ng." Cost-based pricing, Everyday-low pricing
Introductory pricing) . A%
5. Brand Asset Valuator (BAV) model was given by Global Advertising Agency. (Omuicom

Group, WPP PLC, Young and Rubicam, Ogilvy, and Mather)

6. Under value stage, does marketing activities like product research, design and development
take place. (Program Quality Multiplier; Marketing Programme Investment, Customer Mindsel,
Investor Sentiment Multipher) o & -

7. Product mix is also known as . (Produiet assortment, Product ling, Product catalogue,
Product classification) "

8. A brand is defincd as a brand that ig used in more than one product category but is not
necessatily the mame of the 'company or corporation. (Range/Family, Corporate; Modifier,
Tndividual) —~ > -

9. individual brand is presented to consumet & a parent company. ( LUX- Unilever, Swigay,
Zomato,IKEA)  .° o0 :

10. Managing brands for the long run involves _— . (reinforcing, rejection, accepting, enacting)

. State whether the following statement is TRUE or FALSE (ANY SEVEN) - (07)
_ Branding is a strategic point of view, not a select set of activities. :
. Brand awareness consists of brand recognition and brand recall performance.
. Relationship marketing attempts (0 provide @ more holistic, personalized brand experience to
create stronger consumer flies. ¥ : el
, Channel strategy includes the design apd management of intermediaries such as wholesalers,
distributors, brokers, and retailers. O i :
5. Licensing creates contractual arrangements whereby firms can use the name, logos, characters, and
so forth of other brands to market their own brangs for some fixed fee,
6. Brand Personality can B defined as a set of human characteristics associated with a brand.
7. Aided recall could be gauged by asking the respondent to mention the brands in a particular
product category.. . ¢
8. Brand strength measures the ability of the brand m-ij!cun: the delivery of expected future carnings.
9. The breath uf—&btﬁdﬁ?tfal:gy deseribes the gitmber and nature of different products linked to

[FERE LS N~ o

N

the brands sold by the —
10 Green marketing is the marketing of products that are presumed to be environmentally safe.
] e
L . -

—
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r the following

t out the difference berween Brand versas < (08)
r the term Integrated Marketing Communicasioa{IMC). Bring out the various tools of IMC  (07)
2 by a brand manager. "~ - %
Construct the Brand Value Chnmnmdel in de .:' example. (08)
lustrate the Brand Product Matrix with examples. (07)
Answer the following : o

State the various criteria for choosing the brand nts, if you are appointed as a brand manager (08)
for a new product. -

b Summarize the Brand Asset Valuator (BAV) model in brisf. (07)
OR
- Discuss the term cause marketing . Highlight its advantages for the companies. (08)
. Describe the term-Brand positioning. State its importance, ' -7
Answer the following -
Infer the term brand personality. State the big five model 6f brand personality. (08)
. What ar¢ brand extensions? Bxplain its advantages and disadvantages. : \ 07
. Discuss the Customer Based Brand Equity (CBBE) model with example. (08)
. Explain perceived quality and relationship marketing in product strategy. (07)
. Write Short Notes on (ANY THREE) ' ; | (15)
Importance of brand to customers. '
. Brand leveraging:
. Brand awareness pyramid..
. Brand hierarchy.
. Revitalizing brand. - =,
e 5 - OR

=3

CaseStudy

-

The Body Shap is a British skincare, perfume, and cosmetics company and has a range of 1000
products and sells over 3000 plus franchised nd owned stores. The brand believes in cruelty-free
products where no animals are harmed while making the products: It uses fresh and sustainable
ingredients and has found alterative technologics for testing on animals. Today consumers arc
looking forward. to maintaining @ healthy lifestyle and usc otganic products on their skin. The
Body. Shop has béen positioned strategically to meet these requirements. They meet the customer’s
need for u healthy lifestyle by using all natural' and organic ingredients like seaweed, sugarcane,
aloe vera, honey, tea tres, etc. The brand puts forward the environmental concern and campaigns
against animal testing of the products. It is-one of the very few cosmetic companies that promote
health more than glamour and does not use conventional advertising to promote the brand.

Questions =
~ ""
a. What is the basis of brand positioning? w:hﬁ;;msiﬁnuing has body shop used to create a
global brand image? Give reason. L (08)
b. As 4 part of the brand management tearn, suggest any four Integrated Marketing
Communication (IMC) tools for Body Shop. (07)
& L - sasss=ses

—
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efive : Human Resource : HRM in Global Perspective

: Total Marks - 75
‘compulsory subject to internal choice.

is toncerned wit identifying and underatandmg how the MNC’s managa their geographically
International HRM - b. Staffing G Deuelnpmént d. Cross Culture Training

Why should a company have an expatriation training program?

‘& Toteach them how to implement the home countries ways of doing business in ather cultures

b, To familiarize employees with the history, culture and customs of the country they are being assigned

€. Toteach the employees to fluently speak foreign languages

d. To communicate the company's mission statement and purpose for existence

In case of a company shifts the location of a service or production of a part 1o & location
abroad " L
4. outsources b. nffs,hﬁrlng : % onshoring d. relocation
4 The ____isamethod of IH‘HJI'TEIﬂﬂﬂEl m:rultmznrwhere the MNC's hire the maost suitable person for the
fob irrespective of their Haﬁnnalrty _ 2
a. Regio Centric . b. Geacentric ~. c. Ethnocentric d. Polycentric

5. Implement a Buddy system, Offer Gruup Volunteer Prﬁjem Providing Cormprehensive cross culture
training are ways nfﬂeaﬂng with

a. Dealing with culture shock b. Mntiuatlng eimplwees

¢. Improving. Pmdur.ﬂviw d. Managing:hnder performers
6. A salient issue In lmgrnatlunal HRM is undejhnding and maintaining cultural

a. balance be Biversrw & mmrmr d. aﬁaptahnlit\r
7. Personal & emotional problems results in <
a. expatriate b, failure repatriation [~ c.stress d. success
. 8. Culture jsbeing aware that wﬁhﬂn:al differences as well as cultural similarities exist
between peopie and affect attitudes 5"‘ AT
a. sensijtivity :-?‘ b. suitability d. awareness
9. Unions that include workers who have a |
a. trades unions ﬁ ' Irpdus‘try,i}ﬁm pilhdf" d. craft unions

10. Ethnocentric organizations are-best charact
a. Key personnel puﬁgﬂrsaﬂ‘_l}{bfd by headau
b. Subsidiaries are?nanagudhvlnnal nationals (HON)
c. Aworldwide mtegzated,pusmess which gy -ignol ad in favor of ability

d. Staff may move uulﬁfdb their muntnﬁ' it O ithin a particular geographic region




ject Code: 86004/ MEﬂlman Resource : HRM in Global Perspective

=,

| whether True or False (any 7)
frent country is where the firm's subsidiary is jocated

s-cultural adaptability has an impact on the success or failure of an in ternational assignment
mestic HRM emphasizes un_Hﬁ issues related to employees belonging 1o miultiple nationalities
NCs employ expatriates to encourage diversity
PCN are employees whose nationalities are different from headquartersor the su
Head Hunting is a source of international staffing
Exoatriate is an employee working and living in 3 country of which he {5 a.non citizen
Adoption of culture is relatively feasible in Intérnational HRM
social institutions of different countries do not affect global cultural values

0 .Httwurhlng Skillsis a qua!ilg-'ruqumd by global managers today

hsidiary office

5 Elaborate on the Polycentric Appreach of staffing stating its advantages and disadvantages? (7)

b. What are the challenges faced by HR managers of Global firms? (8)
' OR
a. \What is the difference between Domestic and International HRM (7]
b. Write a shart note on eri_s's Cuuum_wiihagemznt? ' (8)
13. a. What are the sources of recruitment in IHRM (7)
b. What are the Approaches to international compensation. (8)
L5 e S OB~
- Q3. A. What are the factors affecting International Performance of Expatriates
B. Explain Cross Culture Training )
Q4. A. What is Expatriate Failure i : (7)
B. Elaborate on Process of Repatriation and challenges faced in repatriation (8)
S OR
Q4. C. What are the challenges faced by Women in international assignments? {(7)
. D. What can HR mangers do to prepare an employee for an international assignment (2)
a5, a. Elaborate on the emerging trends in IHRM - (7)
b, Citing examples explain Virtual Organisations. What are its Advantages (8)

OR

Q5. Write Short notes: (Any 3)

1. Off Shoring -

2. Role of family in expatriate assignment
3. Issues in International HRM *

4. Culture Shock ~ :
5. Ways of Managing Diverse Teams

o’
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Paper / Subject Code: 86006 / Elective : Marketing: Retail Management

*y

\.$’I

2% Hours Max Marks: 75
ctions: All questions are umnpulsuryand Car 5mrtsmh
-A  Choose the right answer (Any eight) \ .
I means maintaining basie required stocks to fulfil consumer demands.

i Inventory management. =~
. Category management -

2 Electronic retailing permits
L Touch and feel factor il Reduction in set up cost
ik, Point of sale terminal. Visual merchandising

il Slnﬁ: management
iv. Retail management

k

Is nol a customer son approach.

i. Frequent shopper programs- ii. Pemenalization  iii: Loyalty cards iv. HRM
has parallel vertical lines st can be read by scanners,

i Electronic article surveillance  — iiBar code i, RFD  iv. Stock keeping
unit o

is 8 process to identify &de

mqull:emﬂms ;
i Interview “ii. job &nalms iii. Temiming iv. Selection

A : storg i8 located wathemst any competitor store around it.

L. Pmafahusmessdislngl ii.Fre ‘
iii. Shopping centre iv. Hypesmarket

mine in detail the particular job dutics and

LS

iﬂabhlﬂ;}ﬂnl Eig
L. Store lay out  ii. Planogram ii g

% the arrangemuent of a store.,
8 iv. Store aisle

8 products en_]oy popular " d generale lot of sales in a short span of time
 i.Fad ii. Seasonal™ iii. Variety iy, ASSartment

9 Inaretail store, inform th _"... =rs about the products, offers and price
i. Managers i, Fixtures  iii. M# _1v. Signage

Aws lh.e customer’s attention to the store.

10 Mostly, it's the of the store th Ay
-‘-: lﬂj"

.. Layout ii. Exterior iii. Interior

State'whether the following statemes £ True or False (Any Seven)
Retailer is the last point-ifi the distrilysen charne].

- Multi-channel retailing is use of mione#88m one channel to reach customers.

A department store stocks a particulas
Online fraud is a limitation of e-tailis
Shopping mall is an example of | 5;_ 2 m location
‘Loss Leaders are sold below the gpst
Generic'brands target price scnsitive
discounted price. -

Visual Merchandising is qm
e

ol merchandise

it by offering no frills product at a
jent Salesmen.

36967 &
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Describe the different types of franch

amer Subject Code: 86006 / Ele < "_ : Marketing: Retail Management

Explain the advantages of E-Tailing

Explain the factors to be cunsit{emr_l'l
Discuss Any four customer retention 3ppIro:

Explain the objectives of CRM in re -
Explain market research as a tool fo; pderstanding retail shoppers

Explain Buying Cycle in Retail, » erchandising & Category Captain
Explain the principles of merchandisin 3 .

Explain the vari_i.;lus pricing'strategie r.:nn be adopted by the retailer
Explain the need of private label brands in India
Discuss the 5 $'s of Retail Operations
Explain the Role of Store Manager in  Retail Store
Short Notes (Any thres) -
Store Design
Airport Retailing
Store Atmospherics .
Carcer options in retail &
Mall management : =
A
=~
Page 2 of 2
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Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services

TIME: 2.5 Hours MARKS: 75

Note: 1.Qlis compulsory.

2. Q2 to Q5 are compulsory with intermal choice,

3. Figures to the right indicate full marks.

4. Give working notes, wherever necéssary.

Q1. (A) Select the correct answer from the l¢ choice questions (Any8 (8)
) is a Fees based service.

a. Portfolio Management b) Factoring  ¢) Venture Capital  d) Underwriting

2) factoring is @ worldwide system of all factoring documentation required for
the paperless trading environment of efectronic data,

a) Cross Border b) Invoice c)Disclosed d) EDI
3) bills ar¢ payable immediately “at sight” or * on presentation” to the drawce.
a) Expired  b) Usunce ¢)Demand ~ d) Knight Bill

4) are contracts that defive its valde from an underlying asset.

o) Factoring  b) Forfeiting <) Denvatives d) Hire Purchase
5) In Hire Purchase depreciation can be clgimed by the
a) Hirer b) Vendor ¢) Financiers & d) Lessor
6) In Securitisation, issue of securities is done by
a) SPV b) Underwriter c¢) Depositor &) Insurer
T leaseis used for shorl ;wrind_ﬁ} lease service.
a) Financial b)opemating ¢) Combined ) Capital
8) is provided at the product development stage.
a) Start up fund b) Private Equit_it;‘und ¢} Seed Fund d) Mezzanine capital

9 is a boon for a consurer who can enjoy the possession of goods without
paying for it immediately.

a) Consumer debit  b) Consumer cmd{ ¢) Consumer contract d) Consumer asset
.
10) is NOT a credit rating ageny of India,
a) CRISIL b) ICRA ¢) PFRDA  d)GARE

25439 PT! of 3




Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services

™~
Q-1B) Answer the statement true or false (any 7) (7 Marks)

1) NBFCs hold a banking license.

2) Factoring is a fund based financial sm@.

3) Clean Bills are accompanied with proper domanls

4) Unsubscribed shares of the companies are purdmed by brokers.

5) The SARFAESI Act hias been enacted to regulate Factoring.

6) Lessee is the person getting the benefit of asset taken on Lease.

7) NHB is a wholly owned company of SEBL

8) The effective rate of interest on consumer finance is much lower than the rates
applicable to business finance.

9) Credit score shows the credit worthiness of a borrower.

10) Issuers with lower credit ratings pay higher interest rates embodying larger nisk
premiums than high credit rated companies.

Q.2 (A) Desctibe the role of agencies that provide financial services in the market?(8 marks)

(0.2 (B) How beneficial Forfeiting is for Financial services sector? (7 marks)
OR
{).2 (C) Explain the challenges faced by financial services sector in India, (8 marks)

.2.(D) Under an advance factoring arrangement, AYM Factors Lid. has agreed to advance a
sum of Rs. 20 Lakhs against the receivable purﬁhascd fram ABC Ltd. The factoring
agreement provides for an advance payment of 80% of the value of factored r¢ceivables and
for guaranteed payment after 3 months from the date of purchasing the receivables. The
advance carries a rate of interest of 14% p.a. compounded quarterly and the factoring
commission i§ 2% of the factored receivables. Assume that the interest is collected in arrear
and the commission is collected in-advance. Compute the amount actually made available to

ABC Ltd. (7marks)
Q.3 (A) Describe the registration process of Stack Brokers, (8 marks)
Q.3. (B) Who are the piay’crs in Securitisation Eﬂ-ccss‘? (7marks)
(OR)
Q.3 (C) Elaborate types of Derivative Contract. (8 marks)
().3.(D) Why Securitisation is not popular in India? (7marks)
Q.4 (A) State the difference between Financial and Operating Lease. (8 marks)
Q.4 (B) What are the reasons for high dema TIndinn Housing Finance Market? (7 marks)

(OR)

25439 20f3




Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services

Q.4 (C) Write down the benefits of Leasing service. (7 marks)
Q.4.(D) Mr. Abhyudaya buys a machine on hire purchase basis at the price of Rs. 60 lakhs at
the rate of 15% p.a. interest rate. Term of Hire purchase contract is 6 years. Find out
instalment payments per annum i
a) Principal is divided and payable equally over the period of 6 years.
b} Amount of instalment is payable equally overthe period of 6 years.
Prepare a table showing principal and interest payments and the total payable over the

period of 6 years. (8 marks)
Q.5 (A) Explain in detail frauds and misuses of Plastic Money. (8 marks)
Q.5 (B) What are the types of Consumer Finance? (7 marks)
(OR)
.5 (C) Write short notes on any three (15 marks)
i.  Sub Brokers !

il.  Special Purpose Vehicle
iii.  Underwriting
iv.  Smart Cards

v. Process of Credit Rating

SsessdesiedadisdaanEaEw



Paper / Subject Code: 86007 / Elective : Human Resource : Organisational Development

Duration : 2 %z Hrs. . Total Marks : 75

Note - All Questions are compulsory subject to Internal choice
Each question carries equal marks. -

Q1 A) Choose and Write correct answer from the options given below: (Any 8) (8)

1. OD interventions reduce unnecessary .
(Conflict/Competition /Work /Collaboration)

2. In expert power the power holder has.
(Expert Knowledge/Teams/Influence/Legal rlghts}

3. OD programs increase the of employees.
(Motivation/Salaries /Tenure /Perks)

4, Process consultation is a technigue of OD intervention,
(Traditional/ Qutdated/ Modern/Discontinued)

5. Sensitivity Training is also known as training.
(Laboratory/On the Job /New /Theoretical}

6. In OD Good leadership results in more
(Profits/turnover-of employees/committed staff Ipayments from suppliers)

7. The process of power is connected with
(Profit/Greed /Politics/Information)

8. is the last phase in organizational diagnosis.
(Analysis/Feedback/Entry/Study Design)

9. Strategy is also known as enirepreneur strategy.
(Reposition /Marketing/ Retrenchment/Replacement)

10, The process of OD is based on the action model.
(Research/ Reaction/Analysis/Resulis)

Q1 B) State Whether following statement is true or false: (Any 7) (7)

Business Process Reengineeringis not a subjective process.

Timing Tactics analyses both the dedisions and the aclions laken.

Organizational development is crlucalm product innovation,

Unobltrusive dala are collecled dlrer.ﬂy from respondents .

Deception is any form of unethical and will destroy trust.

Longitudinal evaluations in OD are often challenging to conducl.

The constltarit acts as an advisor, who presents the suggestions and perspectives
as a solution to the problem. S

8. The Arbitrator is the most powerful ﬁ of intermediary.

9, The infant stage is the stage of décline.

10.The OD manager plans, develops, implements and administers HR programs for
mmpa_ufw employees. X,

S oo e i
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Paper / Subject Code: 86007 / Elective : Human Resource : Orpanisational Development

Q2 A) Discuss the objectives of Organizational Development. (8)

B) Explain the Participation of top management in Organizational Development.  (7)
OR

C) Explain the relevance of Organizational Development for managers. (8)

D) Discuss Organizational Development in Global Setting. (7)

Q3 A) What is Organizational diaghosis? Explain its need. (8)

B) Define Organizational renewal.What are the techniques of Organizational renewal?

(7)

OR
C) What do you mean by Business Process Re-engineering? Explain its Features. (8)
D) Explain the role of change agents, ' 7)
Q4 A) Explain the different types of Organizational Development interventions. (8)
| B) Briefly the traditional techniques of Organizational Development intervention. —~ (7)
OR
C) Explain the features of organization development intervention. (8)
D).Explain the methods of Evaluation of Organizational Development
Intervention. : (7)
Q5 A) Elaborate on Value Conflict and Dilemma. (8)
B) What are the ways to enhance organizational effectiveness? (7)
L : OR
Q5 C] Write short notes on. (Any Three) (15)
1. Organizational life Cycle. | ;.1
2. OD-HRD interface B
3. FEthical guideline for OD Professionals.
4. ValuesinOD. >
p 5. Transactional Analysis. -l'-‘
51244
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J Subject Code: 86010/ Honen Resource : HRM in Serviee Sector Management

FTIME: - 2% hours MARKS: - 75

: =All Questions are compulsory.
Figures to the right indicate full marks.

) Fill in the Blanks: (Any Eight) (%)
salse self-developed through formal written documents and
commumeation. (Resouree, Product, Service, Commuodity)
_san example of busmess-to-business service. (Ad agency. Amnzon,

F I|pkur| Myritra)
. Service organization is o voluntary where members meet reguliarly 1o perform
chartable works, (Commureral organization, non-profit organization, sick unit,
profituble orpamzation)

__system is designed and managed for the perfection in delivery ol core
servites. (Manulactuning, Packaging, Delivery, Labelling)
. evaluation is the systematic process of determining the suceess of the HRE

process, (HRIS, HR, HRP, HRM)

—_ has become a regular feature both i the public sector as well ax i the
private sector of organizabions (Exporting, Importing, Franchising, Ouisowrcing)
o One challenge thie  TIR profissionals are curvently Tacing revolvies around the
stuffing of nurses and doctors. (Bankinge, Healtheare, Railways, Defense)
. In service gap model gap |1 - (Management pereeption, Customer
expectation, Service quality specification, Service delivery)
Interactive marketing of service triangle means ADelivering the promise,
Enabling the promise, Sciting the prostise, Disable the promise)
10, Develop a of the company such that employees have pride in working for the
firm. (Publie image, Role playing, Situntional vignette, bad image)

Q1. () True or False: (Any seven) (7)
I The structure and order of the organization does not limit innovation and growth
2. Employees and managers readily.offer their assistance to cach other (o meel

corporate objectives

In many service industries the search for productivity is a not impertant

Teachers' salaries are paid alongside other civil servants

Agents und brokers do not work on commission basis

Conflicts between customers are uncommon

Human resources pmfcssmnnk or C-i?ﬂﬁutlﬂﬂh can train new workers:

8. Tangibility is the primary chamcteristic that distinguishes services from goods

9. The DINK culture is getting stronger and spreading wider day by day

10. Empathy is the key quality parameler in services

NPk

Q.2 Attempt any two from the following.

(a) Explain the role of serviee employees? (8)

(b) What are the reasons I‘ﬂr growth and development in the service sector? (7)
; OR
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Paper / Subject Code: 86010 / Human Res Management

(€3 Foxplain b detil the six-nuket model, with suit;

(8)
() Explain the concept of employee cHipowerment, | betier
SCIVICES 1o ctsfomers? (7)
Q-3 Attempt any two from the following.
(i) What is the mesming of Globalization: how globalization and
development in the service industry? (8)
(h) Reasons and steatepies adopted to G he gaps in fhe serviee (7)

OR
() Discuss advantages and challenges of delivering services through o
(e Explain in detal the process of HRI evaluation?

Q.4 Attempl any two from (e following,
() Fixplain in detail the concept of moment of truth, with examples?
(b} As per your opinion what various uality issues are in sorvices

OR
(€) Difference between eyele of fuilure, medioerit ¥, and Success?

() Explain the concept of Service leadership, with examples?

0.5 Write Short Notes on: (Any three) l
Employee relention in service sector -
Servicescape

Interviewing techniques

Customer satisfaction drives customer loyalty
Front line employees 2

i

1/
b
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Paper / Subject Code: 36008 [ Finance: Project Management

Time: 2.30 Hrs Marks: 75
(A) Multiple Choice Question: (Any ) (8)

I project are those set up within the national boundariés of a country
(1) National (i) Idernational (iii) Nommal (iv) Povate

2  sdhe Imlg-l-..:m strategie decision which determines & company’s capability to
hll|‘l'|1'1"|' product h OF Services,
(1) Project Managemoent Maturity Model (PMMM) (i) Continuous improvement

(0} Capacity planning (v) Procedural
i is the set of msks grouped chronologically inte processes and the set of people or
resourees needed Tor thosce tasks.

(i} Organisation (1) Work{low (i11) Project  (1v) Orgamisational siructure
4. uanalysis enables the government 1o take up new developments which will benelit
uuymu. and oot just a few.

(1) SWOT (11) Environmemal Impact Assessoment (1EA)

(111) Feasibility studies {iv) socinl cost benelit
5. 16 the process of tracking, reviewing, and reporting the progress (o meet the

performance objectives defined in the project management plan,
(1) Project Management Maturity Model (PMMM) (1) Monitor and Control Project

Work (i) Project management information system (1v) Project auditing

.. B, are instruments for raising debt capital.

i, Equity

b. Preference
¢. Factoring
d. Debenture

-8 is the number of days a company takes in realizing its inventories in cash,
a. Cash Cyele .

b. Operating cycle

¢. Debtor cyele

d. Creditor cycle

53258 Page 1 of 5




Paper / Subjeet Code: 86008 / Finanee: Project Management

SACPT 1 then reeer the project.
i) Acoept

) Regert

¢) No eflect

dy Positive effect

9. __vontans the recopnition hat process improvement is necessary to maintain u

compelitive .ulwmlnl.,::

4 Level I+ Common Languape

b Level 2-Common Processes

v Level 3-Singular Methodology

d. Level 4-Benchmarking,

w Level 5= Contimuons Inprovement

10 The key 1o n succossfiyl project is in the
() Plavming (i1) Organising (iif) Momiloring {w} Implementation

(B) Mateh the following: (Any 7) (7)
Group *A° | Group *B*
{u}_ _n%ﬂxny ﬁiudy m Internal dnd pam:rufncmn B
(b) Technieal (i) A twol wused to wdentify  the
leasibility environmental, social and economic
impacts of a project prior to decision-
malking.
(e) Economic (iii) Financial analysis
viability ‘
(d) Swol (iv) Extemnal and positive factors
(¢) Strengths (v) Strategic planning tool

(f) Weaknesses (vi) Technology
(2) Opportunitics (vﬁjExtmal and negative’ I‘nt:lm's

(h) Threats (viif) Better use of available raw material
(i) Environmental (ix) Improve the standard of living in
impact socicty
assessment

() Positive NPV |(x) ]nt::mal and negative factors
(xi) Accept the proposal

Q2. A. Discuss Project Management Maturity Model. (8)
Q2. B. How is project elassified? (7)

OR

—




e !W

(15)

(O A company cint muke either ol wWo mmn\f a pequited rate ol el al 10%,,
determine for cach project. -

() Net Present Value.
(i) Profitabdity Inedex.
Phe cash inflows of the two projoects are us follows:

el = A B
Cost of Investment 10.00,000] 12,00,000
(Rs) el i
Lixpeoted Life 5 Years| 5 Years
(No Salvage)
Cagh Inflow:
Yoar | -k 800004 9000
2 ] 70,000] 1,50,000
—3 | 80000} 100.00D
LA | __70,000] 80900
[ 5 | 60,000] 80,000
i ) A Year | Year 2 Year Yeard | Year S
BV of e, 1@ 10%| 0909 | 0.826 | 0.75) 0.083 | 0.621
of. il Y B
Q3. A. What 1s the importance of project planning? (8)
(3. 13, Discuss government assistance toward project management for start-ups. (7)
OR
(3. The data relating 10 IWO companies are as given helow: (15)

Particular | Cm;:nny {lnmllpuny 1
Equity Capital @ Rs. 10/- cach Rs. 5,00,000] Rs. 3,00,000
10% Debenture R, 4,00,000) Rs 6,00,000
Output (unit) p. u. 20,000 30,000
Selling Price Per unit Rs. 35 Rs. 30
Fixed Costp. u. Rs. _Q,Bﬂ,lﬂ]l‘] Rs. 1,00,000
Variable Cost p. u. , Rs. 20 Rs. 10

v ou are required to calculate the operating leverage (OL), financial leverage (FL) and combine
levernge (CL) of two companics, Tax rate 30%. find out impact of leverages on Cost of Capital.

Q4. A. Wht is Risk? Siate and explain various types of risk in project. (8)

Q4. B. What are the reasons for project termination?

53258
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Q4. Oy 3 March, 2022 e bailansee sheet of Gonty L. way g Tollonws: (15)

Liabilitics Rs. Ames |7 R
Share capital: 7 ‘-_- l
Authorized 20,000 Cyuity sharey 200,000 [t and and buildings 3,00,000
OF Rs, 100/- each -
Essucd and fand up 15,000 Furniture 1,72.500
cquity share of Rs. 100y. cach

15,00.000 .
Less: Calls in TS at Rs, 20/ 14,98.000 Stock . 4,50.000
cagh 2,000
Reserves Ade. 1,54.500 Sundry debtors 2,07.500
Bank Overdrafi 32,000 | Rils Receivable |} 20,000
Creditors LISS00 | Bank | 1,30,000
Bills Payabie 67,500
Outstanding 1y pensey 112,500
—__[19.80,000 | (1980000 |

The net j}mﬁls%uf ﬂm-.i:_mn}u_my afler providing for tax wur:u- follows:

 Year Ended __Rs.
31" March, 2027 182,500
3% March, 2024 1,70,000
31" March, 2020 1,97,000
31" March, 2070 185,000
3™ March, 2014 145,000

On 31 March, 2022 Land building were valies ; al Rs. 4,75,000 and Furniture were vitlued a

Rs. 205,000, Normal mre of return can considered a1 109, Goodwill iy to be valued at
Rs. 77,800,

Find the intrinsic value of fully paid and partly paid equity shares, Consider closing employed
e average capital employed.

Q5. Caloulate the Important ratios for granting 1¢rm loang gnd give your recommendations
from the following information: ' (15)

Tax rate 40%

Loan is repayable jn equal instalim : | years along with interest.
amount: Rs. 420 [acy @ 12% p.a.

Capital investmen in project: Rs. 600 Jacs depreciable equally ovey 3 years

53258 i Page 4 of 5
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5. Wiite Short Notes on: Any 3 (15)

i Forms ol organisition staciure

. I'roduction Plannimyg and Control.
¢ Contimues improvement.

o Sigmticant of Demand Forceasting,
e. Confhict i Project Management.

FERlNETEsESBERENR RS
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Paper / Subject Code: S&ﬂlﬁ [ Elective: Hnmn’ﬁnuﬂ‘e Human Resour:: An:uuuﬁ:;_g & Aundit
1 _;5 : '
& -
= I}Q - =
_‘}l . a :-L
- TIME: 2.5 Hours aj o 3 MAEﬁg: 5

1 Note: 1. Qlis compulsory. & L9
2.Q2 mqsnmmpmuqmmmﬁum =
3. Figurﬂl‘.ulherighlmdicat: A\ R

L]
e .
o =, ¥

1. (A) Multiple chgigg guestlgn [&mﬂ s : i A (8)
1) HRA was first duwlopec‘l.by % the year. 1 69 - e
& Sir Willinth Petty ~ ¢ Rensis Likert - :
b Lec Brummet d.EmF!amholm =
) Wfamﬂmhspartbf “cosl. Py Al |

:; Additional cost 3 c..ﬁ‘rmmng cost o o <
_Acquisition cost - ' Developuient cost A Ny
= refers W the costs mcm:w&m-nqmnng the right r man for mqright Jab auhc:
"mmﬂmnshtqulnm 3 3

Mdiﬁﬂnﬂ cost . ::.Aﬁ_qmsﬂmn cost _‘T' )

R@smon o SN d.,Emmngm R - P

‘hhjectnfmdemaudﬂlsmmpmih pnsﬂm[l.. S v
. ¢.Social ~ __..J 2d
> d. Present ;o '

refers o L'n.q sacnﬁcr;tlm wuﬂdha'm to be mnum:d to w_p'laa:e prcﬁeml}f

placement: st model @mmncal cost appmmh

portunity cost model -dl. Economic value model :

fihe following 15 non mmmymeﬁm of valuation of HR -

prical cost method 2 %) G,nglucemmt cost method.

b. Opportun c.ustmﬂthnd Ekpncwdrmhsablcwluﬁmmhud
e Impmlsmy mntr‘bumry fupd for the future of cmployees after their

ot.ihr their dcmndenm in m of their carly d:ath

b |

,:i,}‘l'F - 2 Te PT o

L. TDS & d.Gmtlilry :
%) HR valuation repm:‘c helps thcmmgarmm 10 cnntmi‘-ﬂll related to HR
. department - o - SR
aifcome jﬂess i

“d.cost -

L] -

A ted A\ : ¢. employee oriented
b, employer employee mutually benefiting d. profit maximising
~ 10) All actual cost incurred m;:l‘ecmitmnn_t.:“ training, familiarisation are capitalised in

¢. Economic
d. Opportunity
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fam, |
-
0]

QL. (B) State whether the given sﬁtement g true m_:ﬁg [m 2[

1. Historical cost accounting cuncéptamumuhsncmﬂt N
F A Hlmmnrcsnmamungﬁmm =" N
3 hHRAthmarnnommmrmmlpmblm_ g x )
4. wmpmcmudnfmnmmmm:uduuviynm N »

5. Dynamism of industrics create problems of knman capital measurement. =
6. mezssmnalt&xnrmrplommmlsan -

7. Replacement method is a monstary method of S -
8. Out of many one role of auditor is to collect re - e
9, Qumnmnmrq‘ﬁathud is hnghly mss:iunnﬁc. p by
10. Under statistical appm‘h thermﬂt of one organ h the
industry standard. p :
e 1 S .._T:- ‘? N o -...' :
Q2. A)Exphin the ‘component ﬂPAaqummﬂn > rf)~~
B) What do you mean hy-"I:IR Amm,gnhng’.- ()
L ) R ¥ -~
QE " P). Dlsmss the hqn_-’r.’.ﬁts and l_i_lj!i‘lul.iuns 0 Ig -~ .:: I (15)
\ e 3 o % & -y
. L . ~ - L ! -':'I'
Q3. {ﬂ' Explain the rcplmrgﬁm cost mﬂﬂd ith its adva (15)

y

) ExptamEummm \fa]uenddad (EVA _
P : Q} Ekﬁut and: éxplzm lh&‘l'ﬁmlau:mﬁ I}F

‘\.

= Q4- :m Explmﬁ‘&m prmqlﬁiﬁ nraﬂ%euv: HR &

BJ Whu.ﬁn Flumnn Rcsourceandﬂ‘? Expim s obje o (7)
3 & OR - &
Q4 P Exptam&&:feamn:gﬁ. uh_;ecuvﬂ!‘HR udit. " (15)

Q5. : A) Wh_a"i"is hmmg-_ﬁ'iil:iml? menﬂ ::xplq;i EIoUs issues in the measurement
© andyeporting of human capital, (15)
_.-;_-Zx - ﬂ’ < OR
Q5. . Write short note on (any three) 1)
"a} Preuemplnymmt r&uu'eu:mts ,3:"

" b) Non-munctaqr niethod valyation of h].l:mﬂ.u ;
t;} Role of HR Auditor
a0 dJ ‘Disclosure it International level -
. e'J Capttallthnn of Salmy '\-. 3
L ¥ERE LRk ESFERETESens s
SR

-
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the correct aption; (Any 8 out of 10)

is not a Blrmglh’tif maga.n'l_ms
a) shelf-life 3 ’
b) inherent design flexibility
¢) deadline flexibility
d) quality reproduction ' = | P :
. Clutter is defined as A
a) A faulty broadband connection
b) Coarse paper stock
€) An overabundance of messages
d] »A pmmntmrml tool \ _ = X
3, Reach is defined as
“a) Insufficient exposure to the target aud:enoc : . 0
b) The Numberof times a réader is ¢xpﬁscd lo o ttli;!hﬂilgl..‘. 3 :
¢ t:] “The total number of du;rhmlad eXposures : &
A 3) The todl number of undupl:cnted exposures i
= 3‘ Wlmhﬂ} the l'uﬂowmg 1% a key component of medin pl.uuung il involves 1:m|_t,r with
datmmmng where and when to place advertisements? Y
#) Media Stralegy :
1.-'1:} Mediz Mix
s 0) Media Scheduling
d) Media Buying
5. A-media plan is typically developed ‘based on:
g a) Creative Exceution
~ b) Brand Reputation
c}___hﬁurkﬂiing‘ﬁhj eetives
d‘j Mu:ke{_‘_.'}nhmtiun.
46" ' IM:r.‘.Iin j.mying involves:
a) Nepotiating prices with media vendors
b) Selecting the most suitable media channels
é] Dcsrelqpmg creative advertisements
Sl Eulunl.m;, campaign I:H'm..lwmr:ss
53138 4 | Page 1 0f 3
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d) CPM

8. The process of analyzing the effectiveness of media campaigns and m‘aiﬂng 2y

711 per Interaction

adjustments for improvement is known as:

a) Media Asgessment
b} Media Evaluation
¢) Media Monitoring

d) Media Analysis

i

9. The total number of times #n adverfisement is scen by the target audience is measured

by:

A) Advertising Impressions

b) Media Exposure

¢) Advertising Frequency

d} Media Reach

10 Which term refers 1o the comprehensive strategy outliming where and when

advertisements will be placed to achieve marketing objectives?

a) Advertising Blueprint

Ll -

5 1-'

A8
b) Media Strategy 3
c} Audience Tarpeting
d) Market Analysis
FQ.I B) Match the column (any 7 out of 10) 07 marks
I |CPM A | Measuring the effectiveness Method
2 | Continuity B | Emerging media option
3°|IRS - C | Opportunity to see
4 | Clutter in outdoor D 'iﬂluasuring brand and category index
§ | frequency [ | Gross impression
6 |Gl ' | F | Number of times an ad is repeated in a given
period of fune
7 | Diary mcﬁn;r.l (i | When too many loardings are placed next to
| each other
53138 Page2 of 3




]

BDl and CD! ' 111 | Cost per thoussad

.

Mobile advertisement in Indiz lj Indian readership survey

OTS 3 Wihen an ad runs in the media fora long time
without driy gap

Q.2a) Explain with examples the factors affecting media planning decis:ans. 08 muln

Q.2b) Who is & media plunmer? What are thé role and functions of a media planner? U7 marks
OR |

Q2c) “Media planning is ol free from challenges.” - Elaboraie 08 marks

Q.2d) What is media research? Explain any two sOurces of media resenrin, 117 marks

Q3a) Explain the advaniages and limitations of Newspapers 4 a media. 08 itarks

03b) What is media stritegy? Why 1s media strategy necded? 07 marks
OR '

Q.3¢c) Explain with example uny lwo type of out of Home (OOI1) media, > 05 mgﬂcs

Q.3d) Explain any three New media of advertising with its imerits and demoerits. 07 marks

Q.42) What is media budger” What are the factors affecting the media gt 03 marks
().4b) What is media scheduling? Lxplain any three media seheduling s -.:»-.;"gy, 7 wmuarks
OR
Q.4c) What is media buving? What are the main objectives of media buying? i wmarks

~Q:4d) What are the factors affecting your media sche duling strutcgies. 07 murks

Q.53) Explain the importince of reach and frequency i the imehia niswy <menl rocess
L nnarks
Q.5b) What are tlevision metrics? How are they useful in evalunting the cffectivencss ofa
TV ad? (7 warks
OR

Q.5¢) Write shott notes on ny three of the following: (8 marks each) |~ wiarks

1. Radio as o Media

2. Features of Mediu

3. ABC (Audit Bareau of Circulation)
4. Transit Media

5. BDIand €]

53138 Paue 3 of 3



Paper / Subject Code: 86011 I Finance= Stratesic Finaacral Sansgemerl

Duration: 2 %: Hours Murks: 75

Instructions:
1) All the guestions are comnpulsory
2) Figures to right indicate full marks.

Q.1(A) Choose correet alternative and rewrite the statement: (Any 8) (8)

. Incase of Loss Asset, provision for NFA should be muide
a) 15%
b) 25%
c) 40%
d) 100%

2. Relationship between dividend per share and caming pur shire 13
"} a) Price Eamings Ratio
- b) Dividend yield ritio
¢) Dividend payoul utio

d) intrinsic value per share

3. Net Profit for calcubition of EVAILlS
a) NPAT —
b) NPBT
¢) NOP
d) NOPAT

4. Ifthe firm has K¢ < 1. the Walter's Model suggests i
a) 0% Payout
b) 50% Payout
¢) 25% Payoul

[ d). 100% Payoul

5. Merger between [inns cogaged in unecl med Lypes of business sctivily is
a) Horizontal

b) Vertical

o) Conglumerute

d) Reserve

6. Capital Rationing belps in  sharelulders weadih
a) Maximizing
b) Mmirnizing
¢) Stabnbizing
d) Measuring

53459 Page1cfa



7.
g,
9,
10.
Q1B
.
3,
8,
4.
5.
6.
s
g
9.
10,
Q2A.

P apeT /U o L N e

PI of & project is the ratio of present value of inflows to ____ :
a) [Initial cost e =
b) PV of outflows 1 r

¢) Total cash inflows
d) Total cutflows

represents those funds which “re required to manage day-to-day
business operations. ; : -

a) Long term capital

b)  Shori term capital

¢) Working capital

d) Nongofabove = oy
Which among the following is short term sourees of working capital financing?

a) _ Bill discounting X A

b) - Letter of éredit - '
¢) Commercial papet =] Pl .
d)  All of the above ~ -
15 a schenidtic representation of scveral decisions followed by different
chanves of the oceurrence, = o :
a) Sensitivity annlysis o “

b) Probability techniques R i3 ¢
¢}  Risk Adjusted Discounting Rate ; '
d) Decision Tree

State whether given statements :re;’]"me or Fi_l:‘;t: (Any T) (7)

Corporate gﬂvmnncg_ﬁsemmlly{?nmwu b_a]ancmgﬂf the interesis of only
shareholders. ! ' ' e b

Dividend policy is decided by the gharcholders.

MM ‘model deals with releyance of diyidénd decisions. ;

Preforence dividend is deditcted from NPAT for calculation bT EPS.

Standard assets are thosg assets which do not hive any Tisk.

Capital budgeting decisions involves huge investment ouflay.

In ordet to protect the eamings available 10 sharcholders, the swap ratio should be
based on MPS., - g )

MPBF refers to Maximum Permissible Bank Finince.

Discounting of bills is converting the bill into eash.

Dividend pavout raticr refers 1o that portion of fotal earnings which is distributed
among shareholders. :

RT Lid. has & capital of Rs. 10,00,000 in equity shares of Rs. 100 each. The shares

are currently quoted at par. The company proposcs to declare a dividend of Rs. 10

“per share at the end of the current financial year. The capitalization rate for the risk

class of which the ¢ompany belongs is 12%. Compute markel price of the share at

the end of the year, If \ (15)
i) - dividend {snot declared

53459 ; : Page2of 4
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T P |m-_w_ - . e’ -
i) dividend is declared e ;
Assuming that the company pays the dwrdmdam:l has net'profits of Rs. 5,00,000
and makes new investments of Rs. 10,00,000 during the period, calculate number
of new shares to be issued? Use the MM model.

OR-

. With the help of following figures, catcutatr. the market price of a shaw of company
by using: 3 (15)
i) Walter's formula ' '
ii) Gordons formula- : :
Earnings per share (EPS) | Rs. 10 -

Dividend per Share (DPS) ' Rs. 6

Cost of Capital (Ke) 1 20% .

Internal rate of return on investment 25% ¢ X A
Retention Ratio A% : . '

PVR lud. is considering a project with the following Cash flows: (15)
Year | Costof Plant (Rs.) | Running Cost (Rs.) | Savings (Rs.)
0 12,00,000 - - a -

i = 4,00,000 12,00,000

. = ._~:'5{JG0'DD_F 14,00,000

3 ' - = | 6,00 000 | 11,00,000

The cost of capital is 12%. Memﬂm sensitivity of the project to changes in the
levels of plant cost, running cost a:_uﬂ savings _{mnsumnqg cach factor at a time) such
that the NPV becomes zero. The PLV. factorsat 12% are as under: )

Year % Giogtr 11 e 3
PV factor @ 12% 1S 10 0797 0711
Determirie the factor which is most sensitive to affect the utcuptablhly of the project?
“OR
. Mohan Lid has Rs, 35,00,000 allocated for ¢apital budgeting purposes. The proposals
- and associated pmﬁtﬂh!u} indexes have heen determined. ; (15)
_f;gjg_l_s_ | Initial Investment (Rs.) Fruﬁtabliit} lnm:l
P 10,50.000 - > 2%
Q ~5,25,000.¢ 095
R 12,25,000 1,20
8 15,75.000 18
T 7,00000 -~ 1.20
] 14,00,000 et %2

i) Lu]nu]atc the Net Present Valge for m.h of the projects
i) Which of the above invesiments should be undertaken? Assume that projects
are indivisible and there is no alterpative use of the money allocated for capital
_‘budgeting,.

53459 ' > Page 30f4

e




'I

m of the ijm A aad Fm_;net B on the basi

w o | 15
Pmﬁct A 5 - Prujm R
Cash flow: Pruhi'ﬁilil}' “Cash flow Probability |
(Rs) = . (Rs) -
A 8,000 010 24,000 ~ 010
B 10000 | 020 20000 | 015
C 12,000 | 0.40 16,000 0.50°
D 14000 " 030 12,000 0.13
E 16,000 0,10 8,000 0.10
OR . Y . N
Q4  Siddhesh Ltd. furnishes the fnllomng information for the yﬂr ' 15)
Cost sheet % of selling price .
Raw material : 433'5 - / 5
Wages ' i 30% 3 , - T
Overheads ' ~20% o= &l ' =
Total Cost. _ 90% - ~ his - 'S
Profit 10% '
| Selling price .~ i lﬂﬂ% ] )
Additional Information: vl A <3 3
i) Output and sales for thehyuur is l,Zﬁ,Om units. L
it} Raw materials remain in stock for one mnmh's consumption —
i) Process period is one month.. = r
iv) Finished goods remain in stock for two months. :
v) Credit period allowed by the suppliers of mw mmnal is one month.
vi) Credit period allowed to debtors i two months. =
vii) 20% of purchasing will be for cash. oo —
.- Viii) Time lag in payment of wagés and Ovuﬂmds is one month.
ix) Cash and bank balance is 10 be maintainéd at i{s 50,000 £
x) Selling price is Rs. 15 per unit : :
You are required to find out: 2 o
a) Warking Capital Requirement of S:ddcsh Ld, -0
b)) Maximum Permissible Bunk Financé as per Tandon committee assuming the
value ufcdrc current agsets Rs. 2,50. ~
Q& (A) E:cpimn the advantages and dxsadvn;tages of XBRI_ (7)
(B) What are the short-term sources nf—fi:-.vu:kmg I:Bpl!l] finance? (8)
~ OR
Q5 Write Short Notes on: (Any three) -~ (15)
. Market Viilue Added ;
b, NPA apd their vaummng
¢. Typesof Mergers
d. Commercial Paper
¢. Factors determining working capital requirements
- 53459 ‘ Page 4 of 4



Subject Code: 86019 / Elective: Human Resource : Indian Ethos in Management

[Time: 2.30 Hours| [Ma‘ﬂm: F -
* = e
N.B.: Pleasc chedl pwhetier you have right question fzﬂp-ur

1. All questions are compiiSeey -

2. Answers to sub-guestions mmsEs written together
J.1. A. Fill in the blank chmstug_ gtoption (ANY EIGHT) (8 Marks)
1. According to . ifie does Wbt just happen, it requires individual's
participation. \ ' ' §" oy

) law of creation.
) The law of cause and effect
. According to
law of creation
) The Imal.T of causc and effect .~ d
3 _ karma is fora bﬂd]l'
I'mmhluiha Karina b) Nighkaam
Ego sublimation means.
s} We fc::!mg rather than I ‘%ghtngptm S
£) Individual Achievement dﬁﬁgv Defensive Mechanism
5. According 1o Kautilya Arthashastra, is the visionary' |t:adn:r

) law afmsmﬂlty

e ghomld take responsibility of his or her own hfe
) Taw ufmponmhlfhy .
Bt cowt .
rsons united for a spegific purpose, _
¢) Corporate Karma ' d) Sanchit Karma

8] qu; b) Manager ¢) Customer d) Soldier
Em;:r‘lﬁynﬂ and all stakeholders are #:d like a family, by the 2
amily manngad business.
At £ b)flranafunnatlunal Leader
€) Transac Umil leader” &} Coparceners
7.A m:r who revises guals; fﬂdnﬁﬂn.ubjuchvca and pruwclﬂs strategies m calicd
T e S
) Transfo aupnal Leader rofessional laader -
<) Jigact ional leader ismatic lcader :
e . : is sully knawn as msight med:tatmu which means
sec thinigs 0s they really are.
gmam Meditation b}}!nﬂtra Meditation
a-Madltauun - rataka Medmumn :
9 : helps an ind in improving concentration power.
ﬁV:pnssana Meditation. b] antra Meditation
*¢) Raja Yoga Meditation d) Trataka Meditation

10. The act of Shishya of memnnzmg the shloka, recollecting and reproducing the same
is called
a) Suri ~ " b) Shruti §lﬂtﬂl d} Smriti and Shruti
: R :

Q’i B. State whether the following statement is True or False {M‘ﬁ’ SEVEN) (7)
1. According to law of responsibility, whene _-‘tha'e is something wrong in an individual’s
!ch. it is because there is something wrong in themselves.

2. Indinn Ethos deals with twatypes of mowledge, knowledge of creation and knowledge
of creator.
3. Ihmplme. Punctuahty and dignity o
4. Values are imbibed in-an individual siage
5. Physical stress can be due to long tem 1
6. Distress f5 type of positive stress which improve enthusiasm, creativity and

productivity among employees.

work are basic level work ethos.
d:ﬂd]nodandd:ffe:fmm person to person.
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7. Bumout is a negative stress whlch is mperm::ad by p‘;ﬂpiﬂ who su{"fer for a lﬂn
duration of time. 13_
BEupmmecmamdtobﬂhcbmwachu nunhusthamulmhmu.

9. Transformational leaders hmrc the ability to bnng changes in. ﬂm: mind st of pmp]e

in the organization.
10. Prescribed syllabus is. a fcamre uf&nuluﬂ Sjrstcm nfEl:h.tqatmn

Q.2 a) Explain various alemanm of Shidlin Etlm practiced by Indnn G:gnmzatmn, (Dﬂ}

Q.2 b) Describe in t]etml m[enf‘{ndlan Etlmm mmga‘ml m S (07
o BR . _;\'

Q.2¢) Descrmemqmsutﬂs of Indian Ethios. (08)

Q.2d) Desmbt: managpmmtlmmsﬂnm Ma!mhim ) .‘fyﬁ?}

Q.3a) Dlsmms ﬁctummﬁpmﬁblt‘ﬁnr poor wortk ethos, ~
QSbJCompareSawﬂrnmiSmnma]Valnﬁm ontextof
urgamzatiﬂn e 4

‘\\ OR

Q, 3:} Which 'nlucs arc important ﬂ:nr{ndmn Manage
Q.3d) Desmbe hasm aswell as @ rlevel wm-t :thos.

Q. 4a) Describe advuntagm m'drlmmmm of transfis
Q.4b) Exphm;.hamctmmofm:rmicl wders
_OR ,
Q 4::) Describe stress mmgmmtmhmquﬁa'l HEEN
Q.44d) Enumeraxc vaduuschatmsmsaf visionary &
Q.5 a}“DascrfBe modern sys:em of Iummg
Q.5b) Explsun various laws of Karma. -

OR
0. 5 Write Shnn Notes on {Aﬂﬁitll au:r 3 uut
i. Gurukul System of Learning Y
ii. Joint Hindu Family Bumness M

iil, Concept of Yog along witl its benefits
iv. Leadership gualities of Karta
v: Physical benefits of meditation _ -

: ok A

- g - 0 esssszkseeass
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Paper, / Subject Code: 86017 / Elective: Financg_:_-lndirgct Taxes

1’51‘“
< _ :
Duration: 2.5 hours __:—-,- : Marks-75
W

Q.1. (A) Select the most appropriate nl rnative from those given below and rewrite the

statements, (Any 8) " , (08)
|. The liability to pay-tax on gmdsshal arise 3t the : : 3
a) Dispatch of goods g' b) Removal of goods
¢) Time ofsupply . i) Delivery of goods
2. Input tax credit of cannot be ing payment of CGST,

——— — A — . ™

a) CG: ' GST
c) IGST &) d) BothA&B.

3. Chairperson of the GST council is : & ¢
‘a) Union minister of state in changet b) One elected person amongst the
revenue =1 state finance minister

wy -"';_.-

¢) Union finance minister -2 " d) Minister in charge of finance
4. is levied on interstate supplies of gq!s or services.or both
T a) CGST B b) SGST
¢) IGST ,,:,:."': d) BothA&B
. y.- -
5. . Supplier means person suppiymg 2 ' X -
a) Goods ' ; F b) Services
; ). facilities - -t d)_Goods or amms
'6. The challan generated in form GST is valid for
a} 3 days’ ot ~B) 7 dayg
. ) - : :
3 “qua igadigit unique numbérs :
. b)) 4
‘:’lﬂ - il d) 27
8. @hﬂltstgﬁe g&ﬂmtedfuraﬁ@memun* i
hl} Iﬁ.ﬂﬂB - I .'b) 5,000
S0.0 o dy 1,00,000
9 Forban .mdﬁnanual services, plﬂct'ﬁupply is o .
; . :_' ] n“'m|p]gn1 in rch h‘j Location GFSIIFIPIIEf
t)Locati Hhead office > d} Location of recipient in records of
S supplier and if Location of recipient
2 & is not available then Location of
. - ..'EF supplier
for in IGST is =) AN
tersational . 5 b) Internal

Integmied X d) Intra

Page1of 5
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Paper / Subject Code: §6017 / Elective: Finance: Indirect Taxes

Q.1.(B) State whether the following statements are True or False. {An}* T}
Indirect tax is a regressive tax

Person lisble to pay consideration is recipient uf supply:- - =
Place of supply is the location of supplier when suppty is made tq a reglstr.md peTson.
Supplier does not include as. agent, -

Aggregate tumover includes all taxable and I:ﬂ.KBS‘ﬂJHBDIL =

TDS certificale is to be furnished in form GSTR 7

E-Way bill once generated cannot be cancelied. S o
Exempt supply excludes non-laxable supply. ' N
Value of supply is the amount upon which tix is I Iwu:d and cuﬂecmd.

ll} Import ui‘gooda or seryices is uenmd as mtemjntr: Em}pi}' 1 |

“9?“?45-'*‘!-":“5"!"’:"

Q.2 A) From the following infummtmh f‘ur June 202] wpp'lmd b}r Mr Knﬁf?ﬂasan (’J!aﬂify
below item as taxable or non-taxable and calculate the ulue of taxable supply for the mont

of June 2021. (Ignore thrrr:ahﬂld limit and all-ﬂmoums given arc axci;ldmg (08)
Sr. | Particular B 37 0 Amount - 4
No. .° ~ : e &._h" 3
1~ Sammtgnhurgﬁ ru:awcd from md;daie cmuesung I‘m* §_ﬁ:ﬂt1ru

: Lok Sabha election g
. Rent from lodge {declared mnﬁ‘ 800 yet rday per: mrmth} “éﬂ,{}uﬂ o
: Royalty from femporary transfer oﬂmdc mnrks :*

Sale of software 0 ! ;——
Consultancy given i m relation Lo cultwatmn i}f mangv _

Consultancy given'in relation 1o productien of nmnguiim ' m
Private tuition fees from school students =2 1

Health care services mndam-d ) A7
o .

-

an-.hqu.p.mm"

Q. 1 (B) Vlkasltd isa muuufac:umg mncem in Mumbai. In F"! 2022-23. tntal value of supply
including inward supplies taxed unds:r reverse chiarge bam are Rs 1,55,00,000,as per the

i(}liﬂwmg, Explain whether ?'ﬂ-;as Itd is eligible to upt for composition scheme, (07)
* Pm:mlam & . Rs
Inthmtc Suppimi f‘-' o . 60,00,000
Tntra state Supplies made which are: Eﬂh_]ﬂl.‘.‘l to ﬂ% CGST 60,00,000
| Intra state bupphes which are whulty cxnmpt iﬂ.uﬂ,ﬂuﬂ
Valug of inward supphﬁzs whig:h s pnyablc under RCM 5,00,000
= S OR )
53545 : ~ Ppage2of5
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Paper / Subject Code: 86017 / Elective: Finance: Indirect Taxes

#

l,'.F W
Q.2 €) From the following information gwn;ﬁynu of Mr. Kamalakar, compute the value of
Taxuble service and the Goods and Services Tax Payable for the month. All amounts given are

excluding Goods & Service Tax. G e for all the supplies muy be assumed to be 1 8%. (15)
L = Amount |
P - = L
1. Commission earned on toll rece 96,000
2. Transportation charges on sugn‘:i"‘ : 48,000
3. Service of transport of passengess Wray . % 132,000
' 4. Conurier servige 1,44,000
5. Transportation charges, freight m*d pe trip was Rs- 1,200~ |- 72,000
6. Coaching of MBA entrance cxam:; 28,000
7. Commission from ar.ting as cmtﬁhﬁm agent of consuner guor.ls : 36,000
8. Royalty from permanent transfer of trademarks 24,000
0 Carried dut certdin process-as job mhmh did not amount o 84,000
manufacture:. ) 4
10-Commission from acting as clcan&'ud fnrwurdmg agent - 1,20,000
11. Commission for acting as compil§sion agent of agriculture produce | 1,08,000
“12. Toll n:cmpts from highwary of Mimbai to Pune : f»ﬁ 000
Q.3 A) Determine the Place of Supply from the ﬂlnwmg Transactions ami give t;:sglamtlﬂn
to the answer. -Cl" A [08}

Tl ”Vua}r UfNag:pl.B‘ sell 30 TV set to Nhtjn nfB:mgﬂlure fﬂl’dﬂl“"ﬂ‘}-‘ at Mr. Hamyan plan:e of

business.at Bangalore.
“2. Sita refineries (Mumbai, Maharashlu) pes il —::untmct to Don Itd {R:mch:. Jharkhand) to

assemble a power plant in its Kutch, Gujiirat refinery.

3. MrKishor of Délhi being an event mginzer hosted an exhibitien at Mimbai to exhibit the
produsts of Chennai silks, Chennai, which is a registered person.

4. Mr Raj of;Ehennm supplied goods @ mﬂsspm: jet airlines of Chennai flying between Delhi-
Mum@. “The gmﬂsw loaded in themﬁ in I)c,lhl

-'Q 3 B) Frﬁ'ﬁ)ﬂcw ‘mdf:pendem hﬁnﬁmniamﬂ to Cammunus Supply of goods, find out the

time of am&mh of the case. ¥ (07)
,;é. & = :
T = Date of
Sl_’.ﬁ Date o_iilrwuu:a Date of Smnpant of P.t:munis receipt of peymoid
' 1501-2022 - 2012022 . | 17-01-2022
10-2021 16102021 14-10-2021
0-01-2022 0 09-01-2022 -(5-01-2022
th 1-2021 = 2512021 01-12-2021
10-12:2021 |- 09-12-2021 12-12-2021
| “OR
Page 3 of 5
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raper/ Subjeet Cox

Q.3.D) Determine T'lme ::rf Slrppl yﬁerwcm in fh
“-L . Da!c of -
A
o vamuu qﬂmtm Q
Ny I 16093522 | 05-1
' 12 06-10-2022 | 05-13
3 | 5931030230 | 26
'S b 08102022 | o-1
[ 1‘1.%2022 - 10-1F:
! B 2022 10-11
a2 & =3
Q.cl A} Viraj Sﬁartad Busmrss (Gnods} in the month of
which month he will ligBle turonﬁn per the prov
- ) e ¥ : .,Q%" : - -»":;' : -
[Month | Taxable Purohiases Tax Free Puichases T
o L :‘? - .l-l v
# R . (Rs) 7
June & L,50,000 ~ 100,000 150,008
July” T S 250000 [ 130,000
Augast [ 300000 |5 190,000 [~ 190,000
September - 110,000 - 1,30,000 1,80,000
October © 000 | 70000 1,30,000
November 125000 | - 220000 325,000
‘December 33,000 90,000 1,75,000
January s 3,@ 145,000 1,50,000
- — s = _“—‘h'—. : - ]
Febmary | " 250000 | - I,13,000 1,60,000
_, i 370000 |- 90,000 1,20,000
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Q.4 B) India Travels a goods transportation company has provided information. regarding input
tax credit related to GST on inward supplies for the month of July 2022. You are required to

calculate ITC available for the month July 2022. - (07)
Following input tax credits was available on various transactions. Rs
I Purchased of Trucks for transportation ef goods ' 1,200,000
2. purchased of Gift articles for customers during silver jubilee function 65000
3. Goods lost due to natural calamity 20000
4. Truck purchased for imparting training for new drivers 625000 -
5. Repairs of truck from Shyam garage -3 X 25000
6. Health Insurance purchased for dn*-'crs {Mindamr}f as government.issucd a ;
J4notification) 4 - — ) 45000
7. Outdoor catering services me Delhi Chat ' - 45000
; OR
Q.4 C. Ms. Sonia registered in statc of Uttar Em&ﬂsh provi ides lallnwmg details for Lh-:, month of
October. Caleulate her net tax lability for t@mmmh of October. : (15)

Closing balance in electronic credit ledger as on 30 September is IGST Rs.2, 00,000, CGST
Rs.90,000 and SGST Rs.50,000. ¢

-
L

“Sold goods @ 2% G8T to Jagruti in Utiar Pradesh 10,00,000
Sold goods @ 18% GST to Rushikesh in Punjab 9,70,000
Provided Services @ 5% GST to Akshay in Karnataka 4,25,000
Provided Services @ 12% GST 1o Akash in west Bengal | = 8,75,000
Inward supplies @ 5% GST from Utlar Pradesh . 7.80,000
Inward supplies (@ 18% GST fm."ﬂ:'elmlgunu 50,000
. | Inward supplies @ 12% GST fn’m Karnataka ) 85,000
: Inward supplies @ 28% GST ﬁmﬂﬁar Pradesh ! 6,70,000
Q.5 A] Define: Busmbss Consideration-and E—Cmem: operator as per'GST act (08)
Q.5 B) Expima composite supply und Mixed sapply with cxample. (07)
~OR
Q.5 C) Short Notes. (Any 3) ' N 3 (15)
I. Credit Note™ ey )
2: Intra and Interstate suppl) =5 N
3. E-way Bill o
4. Casual Taxable Person ; 2
5. Non-Monetary Consideration B
Hﬁt"'*'.*‘.‘i.*..n}w* o
SF ~
.-';x" 4"?
e
. - R ’ 19-7
.- 1~‘_ﬁ.’
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